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PART – I /  
Question no. 1 : Choose the correctly matched 

pairs from the following. 

State Governor 

a) Karnataka Hansraj Bharadwaj 

b) Kerala M.O.Hasan Farook Maricar 

c) Tripura Dr. D. Y. Patil 

d) Punjab M. K. Narayan 

 1) only b, c, d 2) only c, d 

 3) only a, b, c 4) only a, c, d 

a)

b)

c)

d)

b, c, d c, d

a, b, c a, c, d 

Question no. 2 : Which of the following 

statement/s is/are true or false ? 

a) Sex ratio is a sensitive index that reflects the 

status of women in any society. 

b) Percentage of women in the Parliament is only 

8.8%. Spaces that are considered to be 

important for decision making, we find that 

women are absent. 

c) Within the Indian Informal Sector, women 

labour force constitute the largest proportion. 

d) Since its inception, „Targeted Public 

Distribution System‟, has led to a situation 

where the poorest of the poor women had to 

face an adverse effect. 

 1) a - true,  b - true,  c - true  d - true 

 2) a - false, b - true,  c - true  d - true 

 3) a - true,  b - false,     c - false    d - false 

 4) a - false,    b - true,  c - false    d - true 

a)

b)

c)

a) „ ‟ 

 1) a - ,  b - ,  c -   d -  

 2) a - ,  b - ,  c -  d -  

 3) a - ,  b - ,  c -  d -  

 4) a - ,  b -   c -   d -  

Question no. 3 : Which state of India has the 

following characteristics  ? 

1) Eastern part has a large biodiversity. 

2) Western part is famous for tourism. 

3) It accepts the migration from all states. 

 1) Uttar Pradesh 2) Maharashtra 

 3) Karnataka 4) Tamil Nadu 

1)  2)  

 3)  4)  

Question no. 4 : Match the following. 

List I List II 

1) A continuous increase in  

    general price level 

a)  Hyper 

inflation 

2) Raising prices deliberately to  

    relieve depression. 

b)  Disinflation 

3) Fall in prices without a decline  

    in the existing level of  

    employment output and income. 

c)  Stagflation 

4) Recession accompanied by  

    inflation. 

d)  Reflation 

 e) Inflation 

a)

2) b)

3) c)

4) d)

 e)  

 1) 1 – e,  2 – a, 3 – b,  4 – d 

  2) 1 – a,  2 – c, 3 – b,  4 – e 

 3) 1 – a,  2 – d, 3 – e,  4 – c 

 4) 1 – e,  2 – d, 3 – b,  4 – c 

Question no. 5 : Which of the following 

statement/s regarding endosulphan is / are correct ? 

a) It is an organochlorine pesticide. 

b) Its ban was negotiated at Vienna convention in  

    2011. 

c) It is acutely neurotoxic to insects and mammals. 

 1) a and c  2) a, b and c  

 3) b and c  4) only a  
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a)

b)

c) 

1) a c  2) a, b  c 

 3) b c  4) a 

Question no. 6 : India signed the 4
th

 Tax 

Information Exchange Agreement (TIEA) in 

February 2011 with a country, considered as a tax 

heaven. This TIEA is with ........ 

 1) Bermuda 2) Bahamas 

 3) Virgin Islands 4) Isle of Man 

(TIEA) TIEA 

1) 2) 

  3) 4)  

Question no. 7 : Fundamental Rights are known as 

“Fundamental”, because ....... 

a) they cannot be amended or modified through 

ordinary legislation. 

b) they are essential for all-round development of 

human beings. 

c) they are enforciable in the court of law. 

d) they are incorporated in III part of the 

constitution. 

„ ‟ 

a)

b)

c)

d)

 1) b, c, d 2) b, c 3) a, b, d 4) a, b, c 

Question no. 8 : As per the Budget 2011-12, from 

which of the following the maximum revenue will 

be collected ? 

 1) Income tax 2) Custom duty  

 3) Corporate tax 4) Excise tax 

1)   2)  

 3)  4) 

Question no. 9 : Oil spilling causes – 

a) decrease in rate of photosynthesis. 

b) oil reaches the roots of mangroves and they die. 

c) decrease in amount of dissolved oxygen. 

d) increase in possibility of fire. 

Identify the correct consequences mentioned above. 

 1) only a and b 2) only a, b and c 

 3) only a and c 4) all are correct  

a)

b)

c)

d)

1) a b 2) a, b c 

 3) a  c 4)  

Question no. 10 : Which among the following 

forest types is having maximum areal coverage in 

India ? 

 1) Tropical moist deciduous 

 2) Tropical dry deciduous 

 3) Tropical evergreen  

 4) Tropical thorny 

1)  2)  

 3) 4)  

Question no. 11 : Which of the following 

statement/s is/are not true ? 

a) Super bugs are drug resistant microorganisms. 

b) Primary cause of drug resistance is genetic 

mutation. 

 1) only a  2) only b  

 3) both a and b 4) neither a nor b 

a)

b)

1) a  2) b 

 3) a b  4) a b 

Question no. 12 : Which of the following pair/s is 

correctly matched ? 

a) Harappan Civilization – Painted Gray Ware 

b) The Kushanas – Gandhara School of Art 

c) The Mughals – Ajanta paintings 

d) The  Marathas – Pahari School of painting 

 1) a and d   2) only b  

 3) b and c  4) a, b and d 
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a)

b)

c)

d)

1) a  d   2)  b   3) b  c   4) a, b  d 

Question no. 13 : A judge of either High Court or 

the Supreme Court of India can be removed from 

the office by following the process of 

Impeachment. Which of the following alternatives 

correctly explains the process ? 

a) A motion signed by either 50 members of Rajya 

Sabha or 100 members of Lok Sabha kickstarts 

the process. 

b) A committee to investigate charges of 

misconduct is formed by either the Chairman of 

Rajya Sabha or the Speaker of Lok Sabha. 

c) Motion has to be passed by each House with 

2/3
rd

 majority and followed by an address to the 

President for removal. 

 1) only a  2) only a and b  

 3) All the above 4) only b and c 

a) 

b) 

c) 

a a b b c 

Question no. 14 : Consider following statements 

regarding Jaitapur Power Project 

a) Safety concerns regarding EPR technology. 

b) Reactor is based on Thorium based fuel cycle. 

c) Concern that effluent water will affect coastal  

    ecology. 

Which of the above statements are true ? 

 1) a and c  2) b and c  

 3) a and b  4) all of the above 

a)

b)

c)

1) a  c  2) b c 

 3) a b  4)  

Question no. 15 : Which of the following 

statement/s is/are true regarding USB ? 

a) Its full form is Universal Service Bus. 

b) USB-3.0 has transmission speed of upto 5 GBPS. 

c) Development of USB began in 1994. 

d) USB is an industry standard that defines cable, 

connectors and protocols used for connection and 

communication. 

 1) only a  2) b, c and d  

 3) c and d  4) b and c 

a)

b) USB 5 GBPS

c)

d) USB

1) a  2) b, c d 

 3) c d  4) b c 

Question no. 16 : Which of the following 

statement/s is/are correct ? 

a) Olympic Games, 2012 will be held in London, 

England. 

b) Commonwealth Games, 2014 will be held in 

Glasgow, Scotland. 

c) ICC Cricket World Cup, 2015 will be held in 

England. 

d) FIFA World Cup, 2012 will be held in Brazil. 

 1) only a  2) a and b  

 3) a, b and c 4) all of the above 

a) 

b)

c)

d)

a a b 

 3) a, b c 4)   

Question no. 17 : Which of the following 

statement/s is/are true ? 

a) Somatic stem cells are isolated from blastocytes. 

b) Embryonic stem cells are pluripotent. 

 1) only b  2) only a  

 3) neither a nor b 4) both a and b  

a)

b)

1) b          2)  a 

 3) a b      4) a  b  
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Question no. 18 : Which of the following 

statements is/are incorrect ? 

a) The first official census was conducted in 1881. 

b) The first unofficial census was conducted during 

the tenureship of Lord Mayo. 

c) The 2011 census was the 15
th

 official census. 

 1) only a and b 2) only a and c 

 3) only c  4) none of the above 

a)

b)

c)

 1) a  b 2) a c 

 3)  c  4)  

Question no. 19 : Which of the following 

statement/s regarding Green House Effect is / are 

true ? 

a) Life can sustain without Green House Effect. 

b) Green House Effect causes global warming. 

 1) only a  2) only b  

 3) both a and b 4) neither a nor b 

a)

b) 

1) a  2) b 

 3) a b  4) 

Question no. 20 : The concept of economic growth 

is ........ 

1) unidimensional in nature measuring 

growth in national income. 

2) related to resource development but not 

to human development. 

3) related to development but not to 

deprivation. 

4) multi-dimensional growth incorporating 

non-economic aspects also. 

1) 

 2) 

 

 3) 

 4) 

 

Question no. 21 : The Public Policies listed below 

are concrete examples of substantive policies. 

Identify the examples of regulatory policies from 

the given list and choose the correct alternative. 

a) Taxation Policy. 

b) Environment Policy. 

c) Minimum Wages Policy. 

d) Banking and Insurance Policy. 

 1) only a and d 2) only a and b 

 3) only b, c and d 4) only a, b and d 

a

b

c

d

a d a b 

 2) b, c d 4) a, b d 

Question no. 22 : Match the following 

1) Ila Bhatt a) Kothari Commission 

2) Hansa Mehta  

    Committee (1959) 

b) Employment Guarantee  

    Scheme 

3) Stree Mukti Sangarsh c) Shram Shakti report  

    (1988) 

4) Financial support and  

    hostel 

d) National commission  

    for womens‟ education  

    was established. 

a)

b)

c

d)

 1) 1 – c,  2 – d, 3 – b,  4 – a 

  2) 1 – d,  2 – b, 3 – a,  4 – c 

 3) 1 – c,  2 – d, 3 – a,  4 – b 

 4) 1 – d,  2 – b, 3 – c,  4 – a 

Question no. 23 : Consider the following 

statements regarding indicative planning. Which of 

those are correct ? 

a)  It was followed in USSR. 

b)  It was used in France. 

c)  It has been used in all the five year plans of 

India. 

d)  It is being used in India since eighth five year 

plan. 

 1) a and b  2) a, b and c  

 3) b and d  4) b, c and d 
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a)

b)

c)

d)

1) a b   2) a, b  c   

 3) b d  4) b, c  d  

Question no. 24 : Match the following. 

Branch of science Study of 

1) Oncology a) Birds 

2) Ornithology b) Life in outer space 

3) Exobiology c)  Weather 

4) Meteorology d)  Cancer 

 e) Insects 

1) a)

2) b)

3) c)

4) d)

 e)  

 1) 1 – d,  2 – a, 3 – b,  4 – c 

  2) 1 – d,  2 – e, 3 – a,  4 – b 

 3) 1 – b,  2 – a, 3 – e,  4 – c 

 4) 1 – b,  2 – c, 3 – d,  4 – a 

Question no. 25 : Match the following 

1) Yahan Pyaar Karna Manaa Hein a) Diva 

2) Missing girls b) PNDT 

3) The law in 1994 c) UNFPA 

4) UNO; Declaration for end to  

    violence against women 

d) PUDR 

„ ‟ a)

„ ‟ b) PNDT

c) UNFPA

d) PUDR

 1) 1 – d,  2 – c, 3 – b,  4 – a 

  2) 1 – c,  2 – b, 3 – a,  4 – d 

 3) 1 – b,  2 – a, 3 – c,  4 – d 

 4) 1 – a,  2 – d, 3 – b,  4 – c 

Question no. 26 : Which of the following 

statement/s is/are correct ? 

a) South Sudan became the world‟s newest nation 

on July 9, 2011. 

b) „Juba‟ is the capital of South Sudan. 

 1) only a   2) only b 

 3) both a and b 4) neither a nor b 

a)

b)

 1) a  2) b 

 3) a  b  4)  

Question no. 27 : Which of the following is not 

true ? 

 1) GNP – NNP = Depreciation  

 2) GNP = GDP + Net income from abroad 

 3) NNPFC = NNPmp + Subsidy – Indirect taxes 

 4) GNP = NNP – Depreciation 

1) 

 2)  

 3) 

 4) 

Question no. 28 : Which of the following 

statements is incorrect ? 

1) There were 562 princely states at the time 

of independence. 

2) Majority of princely states denied to 

integrate on or before 15
th

 August 1947. 

3) The All India State People’s Conference 

was formed in 1927. 

4) Hyderabad was the largest princely state 

by population and size. 

1)

2) 

3) 

4) 

 

Question no. 29 : Africa continent mainly lacks 

behind other continents in development. Which of 

the following are the main reasons for this 

observation ? 

a) Harsh climate            b) Dense forest 

c) Poor resources          d) Traditional technology 

 1) a and b  2) b and c 

 3) b, c and d 4) a, b and d 

 a) b)

 c) d)

1) a  b 2) b  c  3) b, c  d 4) a, b  d 
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Question no. 30 : Aims and objectives of the 

Indian State are enshrined in ........ 

 1) Fundamental Rights 

 2) Directive Principles of State Policy 

 3) Preamble 

 4) Seventh schedule of the constitution 

Question no. 31 : According to a report on female 

foetecide 78% of sonography centres are found in 

Mumbai, Pune, Nashik, Sangli and Kolhapur, 

which forms a part of the developed western 

Maharashtra region and it is not surprising that the 

sex-ratio is most skewed in these regions. What is 

the name of this report ? 

 1) The report of the Gokhale Institute of  

        Politics and Economics.  

 2) Report of CEHAT, Pune 

 3) Report of Womens’ study centre, Pune  

      University 

 4) Report of YASHADA 

Question no. 32 : Sustainable development is 

related to ........ 

1) control of population to suit natural 

resources. 

2) development for sufficiency and efficiency 

which is bio-friendly. 

3) development which is within the central 

and state budgetary resources. 

4) development which takes into account the 

taxable capacity of people. 

1) 

 2)  

 3) 

 4) 

 

 

Question no. 33 : Match the following pairs 

A B 

1) Syed Ahmad Khan a) Deoband Movement 

2) Dr. T. M. Nair b) Ahmadiya Movement 

3) Mirza Ghulam Ahmad c) Alighar Movement 

4) V. Ramaswami  

    Naicker 

d) Self respect  

    Movement 

 e) Justice Party  

     Movement 

A B 

1)  a)  

2)  b)  

3)  c)  

4)  d)  

 e)  

 1) 1 – c,  2 – d, 3 – b,  4 – e 

  2) 1 – a,  2 – d, 3 – b,  4 – e 

 3) 1 – b,  2 – e, 3 – a,  4 – d 

 4) 1 – c,  2 – e, 3 – b,  4 – d 

Question no. 34 : According to which articles in 

the Indian Constitution is equal opportunity 

guaranteed with respect to public works / 

undertakings ? Also according to this provision, 

equal opportunity is guaranteed to all citizens in 

terms of employment in public offices. 

 1) Article 13 2) Article 14 

 3) Article 16 4) Article 20 

 1)  2)  14 

 3)  16  4)  20 

Question no. 35 : Which of the following measures 

is adopted by the Government to ensure 

participation of people in Urban Local Governance 

in India ? 

1) Area Sabha          2) Gram Sabha 

3) Self-Help Group  4) Community organisations 

Question no. 36 : Which of the following are not 

correctly matched ? 

       City          River 

  a) Erode       – Cauvery 

  b) Kota       – Chambal 

  c) Gorakhpur   – Ghaghra 

  d) Surat        – Narmada 

 1) a and b 2) b and c 3) c and d 4) d and a 



8 

                a)

                b)

                c)

                d)

1) a  b 2) b  c  3) c  d 4) d  a 

Question no. 37 : An underdeveloped economy is 

generally characterised by a ........ 

1) high ratio of commercial farming to 

subsistence farming. 

2) high ratio of industrial output to total 

output. 

3) high utilization of existing capital in the 

economy. 

4) co-existence of underutilised labour with 

unexploited national and other resources. 

1) 

 2)  

 3) 

 4) 

Question no. 38 : Which of the following 

Biosphere reserves is/are included in UNESCO list? 

 a) Nandadevi  b) Nilgiri    

 c) Sundarban   d) Simplipal 

 1) a, b 2) a, b, c 3) a, b, d 4) all 

a) b) c) d)

1) a, b 2) a, b, c  3) a, b, d 4)  

Question no. 39 : Match the following pairs 

Issue Committee 

1) CWG scam a) Shunglu panel 

2) Adarsh Society b) J. A. Patil Committee 

3) Deemed University  

    Status 

c) Chaturvedi Committee 

4) Antrix - Devas Deed d) Tondon Committee 

  

1)  a)  

2)  b)  

3)  c)  

4)  d)  

 1) 1 – a,  2 – b, 3 – d,  4 – c 

  2) 1 – b,  2 – a, 3 – c,  4 – d 

 3) 1 – d,  2 – b, 3 – c,  4 – a 

 4) 1 – c,  2 – a, 3 – d,  4 – b 

Question no. 40 : Match the pairs and choose the 

correct alternative. 

Social Activist Area of work 

1) Nilima Mishra a) Technological  

     innovation 

2) Harish Hande b) Rural Development 

3) Dr. Abhay & Rani Bang c) SEARCH 

4) Dr. Prakash and  

    Mandakini Amte 

d) Lok Biradari  

    Prakalpa 

a)

b)

c) 

d)

 1) 1 – a,  2 – b, 3 – c,  4 – d 

  2) 1 – b,  2 – a, 3 – d,  4 – c 

 3) 1 – b,  2 – a, 3 – c,  4 – d 

 4) 1 – a,  2 – b, 3 – d,  4 – c 

Question no. 41 : Which of the following Tiger 

Reserves and states is/are correctly matched ? 

a) Nameri  – Arunachal Pradesh 

b) Pakke – Mizoram 

c) Dampa  – Assam 

d) Buxa  – West Bengal 

 1) a, b 2) b, c 3) only c 4) only d 

a) b)

c) d)

1) a, b 2) b, c  3) c 4) d 

Question no. 42 : The concept of geocentric 

arrangement of planets was first challenged by ........ 

 1) Copernicus 2) Galileo 

 3) Kepler  4) Newton 

1) 2) 3) 4)  

Question no. 43 : Find odd man out regarding the 

space exploration space-crafts sent by humans. 

 1) Voyager - 1 2) Pioneer - 10 

 3) Galileo orbiter 4) Path Finder 

1)  2)  

 3)  4) 
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Question no. 44 : The United States of America 

has the following characteristics – 

a) Extensive cultivated land holding. 

b) Moderate rainfall and cool climate. 

c) Fertile soil. 

d) Agro-technology development 

These characteristics lead to ........ 

 1) intensive agriculture 

 2) commercial grain farming 

 3) market gardening  

 4) dairy farming 

a)

b)

c)

d)

1) 2) 

  3) 4)  

Question no. 45 : Which of the following 

statement/s  is/are true ? 

a) 3G technology is intended to provide mobile 

communication with enhanced capabilities for user 

other than voice. 

b) 2G data rates are 270 kbps whereas 3G allows 

minimum data rate of 2mbps for stationary users.  

 1) only a  2) only b  

 3) both a and b 4) neither a nor b 

a) 3G

b) 2G 270 kbps

3G Mbps

1) a  2) b 

 3)   a b 4) a b  

Question no. 46 : Ganga, Yamuna and Kosi rivers 

originates in the ranges of Himalaya. It flows 

through Great Plain of India. Hoogali river has a 

large alluvium deposits in its bed because ........ 

 1) it flows north to south. 

 2) it has large river channel. 

 3) it comes under high rainfall region. 

 4) it is a distributary. 

Question no. 47 : 80-85% part of human brain 

consists of ........ 

a) water b) nerve fibres  c) lipids   d) hormones 

 1) a and b  2) only a  

 3) a and c  4) b and c 

 a) b) c) d)

1) a b    2) a    3) a c    4) b c 

Question no. 48 : Which of the following items are 

correct in respect of reserve money ? 

a) Currency with the public 

b) Cash with banks 

c) Post office saving bank deposits 

d) Time deposits with the banks 

 1) a, b and c 2) b, c and d 

 3) a and b  4) all 

a) b)

c) d)

1) a, b c 2) b, c  d 

 3) a b  4)  

Question no. 49 : Which of the following 

departments under Ministry of Finance deals with 

budget preparation ? 

 1) Department of Economic Affairs  

 2) Department of Revenue  

 3) Department of Expenditure 

 4) Department of Disinvestment 

1) 2)  

 3)        4) 

Question no. 50 : Janani Suraksha Yojna, a social 

sector scheme, has which of the following aspects ? 

a) It is 100% sponsored by central government. 

b) It focuses on the institutional delivery for 

women belonging to the BPL groups. 

c) This scheme deals with lowering Maternal 

Mortality Rate (MMR) in the BIMARU states 

only. 

 1) a and b  2) a and c  

 3) a, b and c 4) b and c 

a)  

b)

c)  

1) a b 2) a  c 3) a, b c 4) b c  
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PART – II /  
Question no. 51 to 53. Read the following passage 

carefully and answer the questions that follow. 

  Expectedly, the university should be able to 

expose new and aspiring artists to the very best in 

all the traditions of a particular art form. It can 

introduce students to a whole range of available 

knowledge in these subjects and help and inspire 

them to blaze their own trail. It can provide the 

basic foundation to hone their artistic sensibilities 

and give them the base to build a career. In a way, 

however, it can be argued that not much of art can 

be taught. An artist or an artiste has to have some 

amount of innate creativity and passion. This is 

what enhances the impact of their expression and 

produces unique and extraordinary art. The stimulus 

of doing so comes from learning under the 

acknowledged masters and  exponents. 

  We already have many institutions preparing 

students in various arts. Noted artists train their 

disciples to the best of their ability. But a university 

can offer the quintessential best in the history of an 

art. It can expose the minds of artist-students to an 

ever-expanding canvass and guide them to discover 

their own world in it. So the government will have 

to be more than careful in choosing the first vice-

chancellor and the deans of various faculties. But 

more importantly, it will be their foremost duty to 

protect the spark of originality and creativity among 

the students. The process of education must not 

become a burden and a confinement. The student 

must not be lost in the maze of various traditions. 

The process should be illuminating, enlightening 

and liberating. It should also be inspiring. It is 

hoped that the planned university soon becomes a 

sacred place of learning for the artists of the 

immediate future. 

  The state government has decided to set up a 

university in Pune for the promotion of the visual 

and the performing arts. It will concentrate on 

music, dance, drama, painting and sculpture. This is 

certainly a welcome step. But then artists can‟t 

create in a vacuum. They do so by relating to their 

own experiences. If their experiences are more 

complex, more multi-dimensional and deep, they 

get projected more expressively and with greater 

feeling. Whether the university can achieve 

something notable in its initial years and whether it 

is set on the right path for the journey of the arts in 

the future will depend on the work, the outlook and 

the passion of these pioneering teachers. They will 

have to ensure that the essence of all the necessary 

and important existing tradition is conveyed to the 

students. 

 

51. According to the author, what is the result of 

personal, complex, deep and multi-dimensional 

experiences ? 

1) No creation of a vacuum. 

2) Enhancement of one’s expressions, 

production of unique and extraordinary 

art. 

3) Planned universities becoming sacred 

places of learning for the artist. 

4) both 2 and 3. 

52. What is the prime thing that universities will 

have to do to ensure that they achieve something 

notable and are on the right path ? 

1) Create more and better students. 

2) The essence of all the necessary and 

important existing traditions is conveyed 

to the students. 

3) Protect the spark of originality and 

creativity among the students. 

4) Provide a basic foundation which the 

students can bank upon. 

53. According to the author, the decision of the 

state government to set up a university in Pune for 

the promotion of the visual and performing arts is 

...... 

 1) a baseless approach. 

 2) a decision that was not necessary. 

 3) an indication of the thinking ability of the  

     state government. 

 4) a welcome step. 
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1) 

 2) 

 

 3) 

 

 4) 

1) 

 2) 

 

 3) 

 

 4) 

1) 

 2)  

 3)  

 4) 

Question no. 54 to 56 : Read the following passage 

carefully and answer the questions that follow. 

  Progress in the life depends a good deal on 

crossing one threshold after another. Some time ago 

a man watched his little nephew trying to write his 

name. It was a hard work, a very hard work. The 

little boy had arrived at an effort threshold. Today, 

he writes his name with comparative ease. No new 

threshold confronts him. This is the way with all of 

us. As soon as we cross one threshold, as soon as 

we conquer one difficulty, a new difficulty appears, 

or should appear. Some people make the mistake of 

steering clear of thresholds. Anything that requires 

genuine thinking and use of energy, they avoid. 

They prefer to stay in a rut where they do not meet 

thresholds. Probably, they have been at their job a 

number of years. Things are easy for them. They 

make no effort to seek out new obstacles to 

overcome. Real progress stops under such 

circumstances. 

  Some middle aged and elderly people greatly 

enrich their lives by continuing to cross thresholds. 

De Morgan did not start to write novels until he was 

past sixty. Psychologists have discovered that man 

can continue to learn throughout his life. And it is 

undoubtedly better to try and fail than not to try at 

all. Here one can be placed in the category of the 

Swiss mountaineer of whom it was said, “He died 

climbing”. When a new difficulty rises to obstruct 

your path, do not complain. Accept the challenge. 

determine to cross this threshold as you have 

crossed numerous other thresholds in your past life. 

54. What does progress in life depend upon ? 

1) Good luck 

2) Overcoming one difficulty after another 

3) Hard work 

4) Spirit of service and cooperation 

55. When did De Morgan start to write novels ? 

1) When he was a student. 

2) When he was sixty years old. 

3) When he was below sixty. 

4) When he was above sixty. 

56 What does “he died climbing” signify ? 

 1) Strove hard till the last moment of life. 

 2) He climbed the hill and then died. 

 3) He died before getting at top. 

 4) He died when he was climbing the hill. 
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“ ”

1) 2)  

 3) 4) 

De  Morgan

1) 

 2)  

 3)  

 4) 

„ ‟

1) 

 2)  

 3)  

 4) 

Question no. 57 to 59. Read the following passage 

carefully and answer the questions that follow. 

  Ocean water plays an indispensable role in 

supporting life. The great hydrosphere permits 

organic existence. The hydrosphere has strange 

characteristics because water has properties unlike 

those of any other liquids. One anomaly is that 

water upon freezing expands by about 9 percent, 

whereas most liquid contract on cooling. For this 

reason, ice floats on water bodies instead of sinking 

to the bottom. If the ice sank, the hydrosphere 

would soon be frozen solidly, except for a thin layer 

of surface melt water during summer season. Thus, 

all aquatic life would be destroyed and the 

interchange of warm and cold currents, with 

moderate climate would be notably absent. 

  Another outstanding characteristic is that the 

heat capacity of water is the highest among all 

liquids and solids except ammonia. This 

characteristic enables the ocean to absorb and store 

vast quantities of heat, thereby often preventing 

climactic extremes. In addition, water dissolves 

more substances than any other liquid. It is this 

characteristic which helps make oceans a great 

storehouse for minerals which have been washed 

down from the continents. In several areas of the 

world these minerals are being commercially 

exploited. Solar evaporation of salt is practiced, 

potash is extracted from the dead sea, magnesium is 

produced from sea water along the American gulf 

coast. 

57. According to the passage, fish can survive in the 

ocean because ...... 

1) they do not need oxygen. 

2) ice floats. 

3) there are currents in the oceans. 

4) water absorbs heat. 

58. Which of the following characteristics of water 

does the author mentions in the passage ? 

a) Water expands when it is frozen. 

b) Water is a good solvent. 

c) Water can absorb heat. 

 1) a only  2) b only   

 3) b and c only 4) all of them 

59. The main purpose of the passage is ........ 

1) to describe the properties and uses of 

water. 

2) to illustrate the importance of conserving 

water. 

3) to reveal the extent of earth’s ocean mass. 

4) to compare water with other liquids. 
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1) 

 2)  

 3)  

 4) 

a) 

b)

c) 

1)  A  2)  b 

 3) b c  4) 

1) 

 2) 

 3) 

 4) 

Question nos. 60 to 62 : Study the following 

information and answer the questions given below. 

a) P, Q, R, S, T and U are six pictures framed in six 

different colours viz. red, green, blue, gray, yellow 

and brown and are arranged from left to right (not 

necessarily in the same order). 

b) The pictures are of dog, cat, eagle, lion, tiger and 

rhino. 

c) The picture of a rhino is in blue colour frame but 

it is not on S and P, which is of a dog, in the brown 

frame and is placed at the extreme right.  

d) The picture of an eagle is neither on S nor on T 

and is not in either a green or a yellow frame. 

e) Picture R is of a cat in a gray frame and is fifth 

from right and next to Q having the picture of a 

tiger. 

f) The picture of an eagle is between the picture of a 

rhino and a tiger in a green frame. Then – 

60. At what number is the lion‟s picture placed 

from left ? 

 1) fifth 2) second 3) first 4) third 

61. If the photoframes of a cat and a tiger are 

interchanged, then what will be the colour of the 

frame of a cat ? 

 1) Green 2) Gray 3) Brown 4) Blue 

62. After the change what will be the alphabet of 

the picture of a tiger ? 

 1) Q 2) R 3) T 4) U 

a) P, Q, R, S, T U

b)

c) S 

P P 

d) S T 

e) R 

Q 

f) 

 1) 2)  3) 4) 

 1) 2)  3) 4) 
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 1) Q 2) R 3) T 4) U 

Question nos. 63 and 64 : There is some 

relationship between first two terms. The same 

relationship exists between the last two terms. Find 

the term amongst the alternatives which best fits at 

the question marks. 

 

63. Architect  : Building  : :  ?  :  ? 

 1) Book : Author  

 2) Tailor : Stitch 

 3) Producer : Distributor 

 4) Goldsmith : Ornaments 

64. AZ  :  BY  : :  GT  :  ? 

 1) DW 2) HR 3) HS 4) RS 

Question no. 65 : Seeta drove her car 4 km to 

north, then turning to left she drove 5 km further. 

Then she turned to her right and drove the car for 3 

km. Which of the following route will take her back 

to her starting point ? 

A) 3 km east, 7 km south, 2 km east 

B) Turn to right and drive for 5 km, again turn to 

right and drive for 7 km. 

C) Turn to left and drive for 5 km, again turn to 

right and drive for 7 km. 

 1) Only A  2) Both A and B  

 3) Both B and C 4) Both A and C 

km

km

km

A) km km  km

B)  km

km

C)  km  

km

A A B

B C A C

Question no. 66 : The average of eight numbers is 

A. The average of four numbers out of those eight 

is B and the average of the remaining four numbers 

is C. Then - 

 1) 2A = B + C 2) A = B + C  

 3) A = 2B + 2C 4) B = C + A 

A

B

C  

 1) 2A = B + C 2) A = B + C  

 3) A = 2B + 2C 4) B = C + A 

Question no. 67 : The ratio of chickens to pigs to 

horses on a farm is 10 : 2 : 3. If there are total 120 

animals on the farm. Then what is the total number 

of horses on the farm ? 

 

 1) 80 2) 24 3) 16 4) 72 

Question no. 68. If m, n, o and p are real numbers, 

then each of the following expression equals to 

m(nop) except ..... 

 1) (op)(mn) 2) pomn 

 3) (mp)(no) 4) (mn)(no)(op) 

m, n, o p

m(nop)

 1) (op)(mn) 2) pomn 

 3) (mp)(no) 4) (mn)(no)(op) 

Question no. 69 : If 
b2

a
=

2
3

 and b  0 then the 

value of 
b2a

ba2




is ....... 

b2
a

=
2
3

b  0
b2a

ba2





 

 1) 
7
1

 2) 7 3) 7.1 4) 1 

Question no. 70 : A vendor bought 6 bananas for 

`10/- and sold 4 bananas for `10/-. How much 

percent profit he got from this ? 

`

`

 

 1) 33% 2) 25% 3) 45% 4) 50% 

Question no. 71. Four different electronic devices 

make a beep after every 30 minutes, 1 hr., 1 hr. 30 

min., 1 hr. 45 min. All devices beeped together at 

12 noon. They will again beep together at ..... 

 1) 12 midnight 2) 3 a.m. 

 3) 6 a.m.  4) 9 a.m. 
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 1) 12 2) 3

 3) 6  4) 9

Question no. 72 : Which letter replaces the 

question mark ? 

 

E M H 

N O A 

I ? D 

 1) N 2) M 3) H 4) L 

Question no. 73 : In a figure below, ABCD is a 

rectangle, AB = 16, BC = 8. P, Q, R, S are mid 

points of the sides, then what is area of shaded 

region ? 

 

 

 

 

 

 

 

ABCD AB = 

16,  BC = 8. P, Q, R, S

 

 1) 96 2) 88 3) 64 4) 80 

Question no. 74 : 1000 soldiers in Kargil have a 

provision of food for 30 days. After 6 days 250 

soldiers have been transfered to another location. 

How long will the food last for the remaining 

soldiers ? 

 

 1) 30 2) 34 3) 38 4) 32 

Question nos. 75 : Two statements have been given 

followed by four conclusions. Choose the 

conclusion that follows from both the statements. 

a) All keyboards are Tying Instruments. 

b) All Typing Instruments are Ear rings. 

 1) All Ear rings are Keyboards. 

 2) No Keyboards are Ear rings. 

 3) All Keyboards are Ear rings. 

 4) Both 1 and 3 

a) 

b)

1) 

 2)  

 3)  

 4) 1 3

Question no. 76 : In a figure below DE || BC.  

If AD = 4, BD = x – 4, AE = x – 3, CE = 3x – 19 

l(AB) = ? 

 

 

 

 

 

DE || BC. AD = 4,  

BD = x – 4, AE = x – 3, CE = 3x – 19  l(AB) = ?

 1) (11, 8) 2) (–8, 11) 3) (10, 9) 4) (7, 12) 

Question no. 77 : Anand starts from his residence 

at a speed of 30 kmph and reaches his office in 90 

minutes. In the evening, he took 60 minutes to 

reach his residence from his office. What was the 

speed of his return journey ? 

 1) 30 kmph 2) 50 kmph  

 3) 45 kmph 4) 60 kmph 

 

 

Question nos. 78 to 80 : 
 The following three questions are based on a 

Passage in English to test the comprehension of 

English Language and therefore both the Passage 

and the questions on it do not have Marathi 

version. Read the following passage carefully and 

answer the questions that follow. 

 

 Longer and longer seemed the journey. He had 

decided to cover the entire stretch of the shore near 

his hut in search of someone who would speed up 

his life. He had not met any human being 

throughout his life. He had not pondered upon his 

reaction on succeeding in his mission. While 

walking, he suddenly came to a standstill and 

D P C 

B 
R 

A 

S Q 

A 

B C 

E D 
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questioned himself – Do I need to search for 

another human being in this manner? He thought 

about other alternatives for an hour. Then he 

decided to prepare something in which he could sit 

and float on water. But he found that making 

something like that was not simple and he would 

require to meet someone for it. He started his 

journey again.

Question no. 78 : Did the main character of the 

passage find someone ultimately ?  

 1) Yes              2) No 

 3) Can not be determined       4) None of these 

Question no. 79 : Where did the main character of 

this passage stay? 

 1) In a hut beside the sea-shore 

 2) In a concrete house beside the sea-shore 

 3) In a hut on an island 

 4) In a concrete buiding on an island 

Question no. 80 : Why did he think about how he 

would react on meeting another human being? 

 1) As he was a child with no thinking ability 

 2) It is not given in the passage 

 3) As he was not a human 

 4) As he had not met another human being  

          before 

 

Question nos. 81 to 83 : 
 The following three questions are based on a 

Passage in English to test the comprehension of 

English Language and therefore both the Passage 

and the questions on it do not have Marathi 

version. Read the following passage carefully and 

answer the questions that follow. 

 

 The discomfort caused to sports – persons at the 

district, state, national or international level has not 

been tapped. If we do so, we will become aware 

that this is one of the core reasons for the bad 

performance of our sports–persons in every 

department. The best way to overcome such 

problems has to be scrutinized. Methods that are 

evolved must be tested and finally implemented. 

This is not an easy task and will require more 

personnel to be employed. Yet it is certainly not 

impossible and can lead to the development of good 

sports teams. The method of employing such 

persons and keeping a constant check on their 

performance should be undertaken on an RTI basis. 

Only then can we be certain of the selection of the 

best sports – persons for every team at all levels. 

 

 

Question no. 81 : According to the author, what is 

the reason for the bad performance of our sports 

persons at any level? 

 1) Discomfort caused to them 

 2) Bad behaviour of the spors staff 

 3) Bad pay provided for the sports persons  

          including sports staff 

 4) None of these 

Question no. 82 : The discomfort caused to the 

sports persons .... 

 1) has not been identified. 

 2) has not been identified and removed. 

 3) has been neglected. 

 4) has been dealt with. 

Question no. 83 : Why should RTI be available? 

 1) It is the right of every Indian. 

 2) To keep a check on the person appointed. 

 3) As it is followed by every government  

          department. 

 4) No reasons stated. 

 

Directions for following 7 questions : Given 

below are seven questions describing a situation 

and is followed by four possible responses. Indicate 

the response you find the most appropriate. Choose 

only one response for each question. The responses 

will be evaluated based on the level of 

appropriateness for the given situation. 

  Please attempt all the questions. There is no 

penalty for wrong answers for these seven 

quetions. 

 

Question no. 84. You have been made responsible 

to hire boats at a short notice to be used for an area 

under flood. On seeing the rent mentioned by the 

boat owners you found that the lowest rent was 

approximately three times more than the approved 

rent of the government. You would ........ 

1) reject the proposal and call for a fresh 

rent proposal. 

2) accept the lowest rent. 

3) refer the matter to the government and 

wait for the decision. 

4) threaten the boat owners about a possible 

cancellation of the license. 
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1) 

 2)  

 3) 

 

 4) 

Question no. 85. There was a huge fair organized 

in the outskirts of the town. However, due to a short 

circuit a fire soon erupts and several people are 

aflame and badly burnt. Who should be held 

responsible for the burn injuries that occurred to 

several people ? 

1) the electrician who obviously did not do a 

good job. 

2) the organizers of the fair. 

3) the ambulances which arrived late. 

4) the district administration for sanctioning 

the fair. 

1) 

 2)  

 3)  

 4) 

Question no. 86. You have taken up a project to 

create night shelters for homeless people during the 

winter season. Within a week of establishing the 

shelters, you have received complaints from the 

residents of the area about the increase in theft 

cases with a demand to remove shelters. You would  

1) ask them to lodge a written complaint in 

the police station. 

2) assure residents of an enquiry into the 

matter. 

3) ask residents to consider the 

humanitarian effort made. 

4) continue with the project and ignore their 

complaint. 

„ ‟

1) 

 2) 

 

 3) 

 

 4) 

Question no. 87. You come to know that some 

social miscreants having a political patronage are 

trying to create a communal tension in the city. As a 

Police Commissioner of the city your first action 

would be ........ 

 1) let them do something then take action. 

 2) take preventive measures and make sure  

      the city is safe. 

 3) take senior’s opinion and follow it. 

 4) this is a political issue so don’t interfere. 

1) 

 2) 

 

 3)  

 4) 

Question no. 88. You, along with your friend, were 

chatting in a restaurant over a cup of coffee. 

Suddenly you heard an intense sound of blast very 

close by. You ........ 

1) jump on your feet and hold your friend 

tightly. 

2) look away from the source of noise and 

start praying for the best. 

3) start locating the source of noise. 

4) start shouting for help. 

1) 

 2) 

 

 3)  

 4) 
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Question no. 89. A stranger has met with an 

accident and is loosing blood rapidly. What would 

you do in such situation ? 

 1) Look for a phone and call a doctor. 

 2) Call the police. 

 3) Try to restrict the flow of his blood. 

 4) Watch the show with the crowd from the  

      sidelines. 

1) 

 2)  

 3) 

 

 4) 

Question no. 90. A colleague in your office asks 

you for a lift. Its inconvenient for you as you are 

already late and the drive will take you out of your 

way. You say, “I‟m already late, so I can‟t take you 

all the way. If it helps, I will drop you at the bus 

stop”. This response is ....... 

 1) passive  2) assertive 

 3) aggressive 4) can’t say 

“

”

1)  2)  

 3)  4) 

 

 

 

PAPER  ENDS  HERE  
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